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Q.1 Choose the correct option: (08)
i. Solution set of 5x2 — 125 = 0 is: 1= Cawa85x2 — 125 =0
&) gla
(@) {5} (b) {10} () {-5} (d) {£5}
ii. No of ways to solve a quadratic equation are: =S S8 da S gl (2 90
o S
(a) 1 (b) 2 AL Y< (d) 4
iii. An equation 3 + 327 + 6 = 0/is of form: pnd S35 4374 6=0
&) gl NN
(a) Radical equation < sbue (5 )3 (b) Reciprocal equation <& sbua ( sKas
(c) Exponential equation <l sbue Jlai & 58 (d) None of these ¢ LS
iv. Two factors of x> — 15x + 56 are: 108 ripd Sale Sx? — 15x +
56
@x+8)x-7) B E-8)(x+7) ©&-=8)x-7) (d&E+8)(x+7)

v.  Number of terms in standard quadratic equation ax*+ bx+c=0:
= 3 S e (e ax? + bx + € = 0 oo S ghea 20 92 g ks

(a) 1 (b) 2 (WY (c)3 (d) 4
vi. Equationis 2x* —3x3 + 7x2 —3x + 2 = 0 called: :) = S 2x* —3x3 + 742 - 3x+2=0

& glia
(a) Radical equation <l sbue 5 )3 (b) Reciprocal equation &l gbus (s Sae
(c) Exponential equation <l jlus (Jai & (d) None of these ux &<

vii. Standard form of quadratic equation: sk (S Gl gla (a8 92
(@ax?=0,a#0 e \\BYbx +c=0, b£0
(€)ax*+bx+c=0, a#0 (d) ax* =bx,a+ 0

viii. The name of the method to drive a quadratic formula is: =S S A S Y gald a0 g0
1= a8 ARk
(a) Factorization ~ kS (a5 (b) Quadratic formula ¥ se )l =53 50
(c) Completing square method ~& sk S a e JeSa (d) None of these v A<

Q.2 Solve the following short questions. (7 x 2=14)



Define radical equation.

0B OS et (S Gl slae )3

Solve by factorization 3y2ﬁ%(y U5) o

3y? =y (y — 5) -uaS da s 3a5 sy

Solve (Zx — %)2 = %

(2=} o

iv. | Solve vx +3 =3x—1 Vx+3=3x—-1 -wSd>
v. | Solve by factorization x* — 3x — 4 x2—3x—4 -wSdseiiad
vi. | Define zero dimension. f e S u ilay 5 5ia
3 @Ok a3 S i gl =
vii. | Define pure quadratic equation. PSR S Sl 20 52 oale 25
o JUa
Q.3 Solve the following questions. (04 + 04)
.| Solve by completing square method: 10 S Ao e JeeSS
- x2—2x—195=0 x2 —2x—195=0
Solve the following equation < S da &l e

3x245=8x"1

3x 24+5=8x"1

QN ARN




